EARAROBEEIERT — 2 N— IBISH —F

20155590 (+) 1m#E3H

m#3%4ﬁi 500 2 ‘ %1z /J\Eﬁ‘ [eErE] - | 4 (&) 18000 B
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
DNEEEER :53. —6-5- . . AEEM (EXR)
1 10 L)Y/ T 4 4 ekt 1(5_3)3 6-6-5-4 37.9| 93.9 6 (4_748; BT
R:tEr/aJaq4 BoALTF4TF HE ik
0S5 = 46 | ALEEN 1:53.5 3-3-6-5 [38.0| 92.2 | 3 508 | DNEEFEGL (35id)
21111 ®INTT 14—/ 57.0J (1 1/4) *+2) HEEER
RVLKRYIYRIR BiALLIE— HET7—L4
Vs i 5 | AR 1:53.6 2-2-2-2 |38.4| 91.3 | M 454 | BEERE (BH)
317111 RIVAFTH— 57.0& (1/2) (+8) INATRAT
LTI R7E— BELYLZXXx— T @E
_ S [ EES : -12-8- REREEZ ((#)
al5lg|FrTLaz K o4 £l 1(.15/32.)7 11-12-8-7 | 38.0 | 90.4 | 4 fz(; ‘m;f%
R:FATLANTA— B:FATLIHFT 71 ILMBEERS
- S t o6 | AT 1:53.7 3-3-3-2 | 38.4]90.5| 7 518 | mAES ()
5/gl14] TNV FETR g 5.0 (7E) (t04) | RE—K=RALZG5T
R:d—ILR7Ya—b B:YLTT4—3— "HET77— L4
. o4 | BRHER 1:53.8 7-6-7-7 |38.2| 89.5 | 5 496 | =tEHE (EH)
6l5/7|®@AXEAVEY 57.0 (3/4) 4g) | B EvTLy KTy -1
RNAT——L By IZRry b KI5
=3 =3 o4 | BSAES 1:54.0 8-8-8-7 |38.3| 87.8 | 1 464 | AZHERR (EH)
7 5| TYRIVT Ty * 570 (3/4) © Egﬁ@fé;;m
L:TTRIXTFIEIN BRFHINZYNX J—¥TTr—L
¢ o4 | THEEA 1:54. 1-1-1-1 | 39.0 | 88.0 | 2 508 | AR (i)
gl 4| hoRTILY — §7.0 (7E) e |EEDE 08
RL:b—KRII RS- B bh—KkIT7E-—L BT U H RS
= . o4 | BBA 1:54.1 11-11-10-10{ 38.2 | 86.9 | 8 464 | EEBFISL (i)
98|13 ®77RXT > 57.0 (7€) (+4) | EAIHI—ER
L7 IHTFLIY B AN v v — KE7 7 —L
ol § S 44 | FE LU 1:54.4 10-10-3-5 | 39.1| 84.6 | 9 502 | ABEB ()
10K 3| @1 vITt 50 (1 3/4) (+9) | APTELA
XM= TFR—L BAHTFRATI—2— [ SRA%
e = s T2 TR : —13-12— wEiEEE (EXR)
M IR EDAPEE S i 5 el 1.(524>.7 13-13-12-12| 38.5 | 81.7 | 13 (4;8) i
A PM—3IFA—L BVIZLRLFI BEE  iBh
i . o4 | JIBE= 1:54.9 3-5-10-11 | 38.9| 80.2 | 12 | 506 |ERFEH#ASE (3ER)
12f8e6| 17~ 57.0 (1 178) (o) | HEeABE
R:Tw IRy y b BioULYEoO—N et
. Cx s g =it 156. -14-14- . . THE (EH)
b7l @Ly FO—x%> 5 B4 557_0 1(576)0 14-14-14-14| 38.6 | 70.3 | 14 ;1_522) G e
R:A-—JXfx14 B:U4—>O%>X TRENIS
S 5 FEFLE—BB :58. -8-12- . . HEEFM (KR
M DA [B] H 6 L1 (;5{8*;3) 8-8-12-13 | 42.6 | 54.5 | 10 (5+364) s
RV RKYTYAIR B4 IVEXRAM=L IS
@ 21 L
£y 50.3-38.3
NA> 24 L | 12.8-11.3-12.9-13.6-12.4-12.0-12.5-12.5-13.3
® I—F—@EBIERL
15=2r= 4,11(1,6,14)10,7(5,9)3-(13,8) 2=12
23—+ — 4,11(1,14)6(7,10) (5,9)3,13,8,2=12
33—+ — 4,11(3,14)10,1,7(5,8) (13,6) (2,9)=12
Mal=5r= 4(11,14)10(3,1) (7,5,8)-13,6,2-9-12
[ RN
B Op 10 1,280 794K 1-10 1,280M & 1-6 4,160M &R 1-10-11 36,610
BB 10 350H 10-11 2,480 B E 1-10 4,540M EE 10-1-11 119,310H
1 260M 1-11 3,500/ B H 10-1 9,490
1" 740M

ABICOVWTRDTEEERROODE. TR LIV,




